Włodzimierz M. Mikulski Natural liftings of foliations to the *r*-tangent bunde

In: Jarolím Bureš and Vladimír Souček (eds.): Proceedings of the Winter School "Geometry and Physics". Circolo Matematico di Palermo, Palermo, 1994. Rendiconti del Circolo Matematico di Palermo, Serie II, Supplemento No. 37. pp. [153]--159.

Persistent URL: http://dml.cz/dmlcz/701552

Terms of use:

© Circolo Matematico di Palermo, 1994

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

NATURAL LIFTINGS OF FOLIATIONS TO THE r-TANGENT BUNDLE

Włodzimierz M. Mikulski

In this paper a classification of natural liftings of foliations to the r-tangent bundle is given.

0. All manifolds are assumed to be finite dimensional, Hausdorff, without boundary and C^{∞} . Mappings are assumed to be of class C^{∞} and foliations are assumed to be C^{∞} and without singularities. A foliation is identified with its class of cocycles or its tangent distribution. For equivalent definitions of foliations see [5].

From now on we fix two natural numbers n, p such that p < n. Let $r \ge 0$ be an integer. Suppose that for any *n*-dimensional manifold M and any *p*-dimensional foliation F defined on M there exists a foliation L(F) on T^rM projectable (by the *r*-tangent bundle projection $\pi : T^rM \to M$) onto F. According to the general theory of natural transformations, see [2], we introduce the following definition.

DEFINITION 0.1. A system $L = \{L(F)\}$ as above is called a *natural lifting of foli*ations to the r-tangent bundle if the following naturality condition is satisfied: for any n-manifold M, any foliation F of dimension p on M and any diffeomorphism φ from an n-manifold N onto an open subset of M we have $L(\varphi^{-1}F) = (T^r \varphi)^{-1}L(F)$, where $\varphi^{-1}F$ is the inverse image of F.

Let us remark that for any manifold M the r-tangent bundle T^rM is the fibre bundle of r-jets at 0 of curves $\mathbb{R} \to M$ with the target projection $\pi: T^rM \to M$,

⁰) This paper is in final form and no version of it will be submitted for publication elsewhere.

 $\pi(j_0^r\gamma) = \gamma(0)$. If (U, x^i) is a chart on M, then the induced chart $(\pi^{-1}(U), x^{i,\lambda})$ on $T^r M$ is given by

$$x^{i,\lambda}(j_0^*\gamma) = rac{1}{\lambda!}rac{d^\lambda}{dt^\lambda}(x^i\circ\gamma)(0),$$

where i = 1, ..., dim(M), $\lambda = 0, ..., r$. If $f : M \to N$ is a mapping then the induced mapping $T^r f : T^r M \to T^r N$ is given by $T^r f(j_0^r \gamma) = j_0^r (f \circ \gamma)$, see [4], [1].

We have the following examples of natural liftings of foliations to the r-tangent bundle.

Example 0.1. Let F be a p-dimensional foliation on an n-manifold M. Let q = 0, ..., r. It is well-known that $T^q M$ admits a (canonically dependent on F) foliation $T^q F$ of dimension p(q+1) projecting onto F. This foliation is defined by a cocycle $(T^q U_i, T^q f_i, T^q g_{ij})$, where (U_i, f_i, g_{ij}) is a cocycle defining F. We put

$$L_{q}^{r}(F) = (\pi_{q}^{r})^{-1}(T^{q}F)$$

where $\pi_q^r : T^r M \to T^q M$ is the projection given by $j_0^r \gamma \to j_0^q \gamma$. Then $L_q^r(F)$ is a foliation on $T^r M$ of dimension p(q+1) + (r-q)n projectable onto F and the system $L_q^r = \{L_q^r(F)\}$ is a natural lifting of foliations to the r-tangent bundle.

The main result of this paper is the following theorem.

THEOREM 0.1. Any natural lifting of foliations to the *r*-tangent bundle is equal to one of liftings L_0^r , ..., L_r^r described in Example 0.1

This theorem extends the result of [3] to the case when r > 1.

1. From now on the usual coordinates on \mathbb{R}^n are denoted by x^i , the standard *p*-dimensional foliation on \mathbb{R}^n generated by $\frac{\partial}{\partial x^1}, ..., \frac{\partial}{\partial x^p}$ is denoted by F^p and the induced coordinates on $T^r \mathbb{R}^n$ are denoted by $x^{i,\lambda}$, where $i = 1, ..., n, \lambda = 0, ..., r$. We shall use the following simple properties of liftings of foliations to the *r*-tangent bundle.

Applying the naturality condition to the inclusion maps we obtain the following locality condition.

LEMMA 1.1. Let L be a natural lifting of foliations to the r-tangent bundle. Suppose that F_1, F_2 are two p-dimensional foliations on an n-manifold M such that $F_1 = F_2$ on some open subset $U \subset M$. Then $L(F_1) = L(F_2)$ on $\pi^{-1}(U) \subset T^*M$.

Using the locality condition and the naturality condition to the adapted charts we deduce the following fact.

154

LEM 1.2. Let L', L'' be natural liftings of foliations to the r-tangent bundle. Suppose that $L'(F^p) = L''(F^p)$. Then L' = L''.

From the definitions of L_q^r and π_q^r given in Example 0.1 it follows the following lemma.

LEM 1.3. For any $q \in \{0, ..., r\}$ the foliation $L_q^r(F^p)$ is generated by

$$\frac{\partial}{\partial x^{i,\lambda}}; \qquad (i,\lambda) \in \{1,...,p\} \times \{0,...,q\} \bigcup \{1,...,n\} \times \{q+1,...,r\}.$$

The foliation $ker(d\pi_a^r) \subset TT^r \mathbb{R}^n$ is generated by

$$rac{\partial}{\partial x^{i,\lambda}}; \qquad (i,\lambda)\in\{1,...,n\} imes\{q+1,...,r\}.$$

In order to prove the first part of Lemma 1.3 we observe that F^p is defined by the cocycle $\{(\mathbb{R}^n, f, id_{\mathbb{R}^{n-p}})\}$, where $f : \mathbb{R}^n \to \mathbb{R}^{n-p}$ is the projection onto last n-p factors. Therefore $T^q F^p = ker(dT^q f)$ is generated by $\frac{\partial}{\partial x^{i,\lambda}}$, where $(i,\lambda) \in \{1,...,p\} \times \{0,...,q\}$.

2. We will prove Theorem 0.1 by induction with respect to r. For r = 0 this theorem is trivial. The inductive step is based on the following lemmas.

LEM 2.1. Let L be a natural lifting of foliations to the r-tangent bundle and let $j_0^r \xi \in T^r \mathbb{R}^n$. If $Y_1, ..., Y_s$ are linearly independent constant (with respect to the induced coordinates $x^{i,\lambda}$) vector fields on $T^r \mathbb{R}^n$ such that $L(F^p)_{j_0^r \xi}$, the tangent distribution of $L(F^p)$ at $j_0^r \xi$, is generated by $Y_1(j_0^r \xi), ..., Y_s(j_0^r \xi)$, then $L(F^p)$ is generated by $Y_1, ..., Y_s$.

In particular, if Z is a constant vector field on $T^r \mathbb{R}^n$ such that $Z(j_0^r \xi) \in L(F^p)_{j_0^r \xi}$, then Z is an $L(F^p)$ -vector field.

PROOF: Let $j_0^r \eta \in T^r \mathbb{R}^n$ and $Z_1, ..., Z_s$ be linearly independent constant vector fields on $T^r \mathbb{R}^n$ such that $L(F^p)_{j_0^r \eta}$ is generated by $Z_1(j_0^r \eta), ..., Z_s(j_0^r \eta)$. Using the naturality condition with respect to the homotheties $tid_{\mathbb{R}^n}, t \neq 0$, we obtain

$$L(F^{p})_{j_{0}^{r}(t\eta)} = span\{Z_{1}(j_{0}^{r}(t\eta)), ..., Z_{s}(j_{0}^{r}(t\eta))\}$$

because $tid_{\mathbb{R}^n}$ preserves F^p and $t\frac{\partial}{\partial x^{i,\lambda}}(j_0^r(t\eta)) = T^r(tid_{\mathbb{R}^n})(\frac{\partial}{\partial x^{i,\lambda}}(j_0^r\eta))$. If $t \to 0$ then

$$L(F^{p})_{j_{0}^{r}0} = span\{Z_{1}(j_{0}^{r}0), ..., Z_{s}(j_{0}^{r}0)\}.$$

In particular

$$L(F^{p})_{j_{0}^{r}0} = span\{Y_{1}(j_{0}^{r}0), ..., Y_{s}(j_{0}^{r}0)\}$$

Then

$$L(F^{p})_{j_{0}^{r}\eta} = span\{Y_{1}(j_{0}^{r}\eta), ..., Y_{s}(j_{0}^{r}\eta)\},$$

because $Y_1, ..., Y_s, Z_1, ..., Z_s$ are constant. The first part of the lemma is proved.

Now, let $Y_1 = Z, Y_2, ..., Y_s$ be linearly independent constant vector fields on $T^r \mathbb{R}^n$ such that $L(F^p)_{j_0^r\xi}$ is generated by $Y_1(j_0^r\xi), ..., Y_s(j_0^r\xi)$. Then $L(F^p)$ is generated by $Y_1, ..., Y_s$. Hence Z is an $L(F^p)$ -vector field. \Box

LEM 2.2. Let L be a natural lifting of foliations to the r-tangent bundle. Then

$$ker(d\pi_{r-1}^r)\bigcap L_r^r(F^p)\subset L(F^p).$$

If additionally $L(F^p) - L_r^r(F^p) \neq \emptyset$, then

$$ker(d\pi_{r-1}^r) \subset L(F^p).$$

PROOF: By the definition of liftings we have

$$d\pi(L(F^p)_{\sigma}) = F_0^p = span(rac{\partial}{\partial x^1}(0), rac{\partial}{\partial x^p}(0)),$$

where $\sigma = j_0^r(\tau \to \tau e_n) \in T^r \mathbb{R}^n$, $e_j = (0, ..., 1, ..., 0) \in \mathbb{R}^n$, 1 in j position. Of course, $d\pi(\frac{\partial}{\partial x^{j,0}}(\sigma)) = \frac{\partial}{\partial x^j}(0)$. Then for any $i \in \{1, ..., p\}$ there exists a vector $Y_i \in ker(d_\sigma \pi) \subset T_\sigma T^r \mathbb{R}^n$ such that

$$\frac{\partial}{\partial x^{i,0}}(\sigma)+Y_i\in L(F^p)_{\sigma}.$$

By the naturality of L with respect to

$$\varphi = (x^1, ..., x^{i-1}, x^i + (x^n)^r x^i, x^{i+1}, ..., x^n)$$

preserving $germ_0(F^p)$ and σ we deduce that

$$dT^r\varphi(\frac{\partial}{\partial x^{i,0}}(\sigma)+Y_i)\in L(F^p)_{\sigma}.$$

We see that

$$dT^{r}\varphi(\frac{\partial}{\partial x^{i,0}}(\sigma)) = dT^{r}\varphi(\frac{d}{d\tau}|_{r=0} [\tau \to j_{0}^{r}(t \to \tau e_{i} + te_{n})])$$
$$= \frac{d}{d\tau}|_{r=0} [\tau \to j_{0}^{r}(t \to \varphi(\tau e_{i} + te_{n}))]$$
$$= \frac{d}{d\tau}|_{r=0} [\tau \to j_{0}^{r}(t \to (\tau t^{r} + \tau)e_{i} + te_{n})]$$
$$= \frac{\partial}{\partial x^{i,0}}(\sigma) + \frac{\partial}{\partial x^{i,r}}(\sigma).$$

156

On the other hand, since $j_0^r \varphi = id$, then $T_0^r \varphi = id$, and then $dT^r \varphi(Y_i) = Y_i$ as Y_i is generated by a curve in $T_0^r \mathbb{R}^n$. Hence $\frac{\partial}{\partial x^{i,r}}(\sigma) \in L(F^p)_{\sigma}$. Now, by Lemma 2.2 $\frac{\partial}{\partial x^{i,r}}$ is an $L(F^p)$ -vector field. The first part of the lemma is proved because of Lemma 1.3.

It remains to prove the second part of the lemma. By Lemmas 2.1, 1.3 and the first part of Lemma 2.2 there exist $\lambda \in \{1, ..., r\}$, $i \in \{p+1, ..., n\}$ and a constant $L(F^p)$ -vector field Y on $T^r \mathbb{R}^n$ of the form

$$Y = \frac{\partial}{\partial x^{i,\lambda}} + \sum_{(j,\mu) \in A} a_{j\mu} \frac{\partial}{\partial x^{j,\mu}}$$

where $A = \{p+1, ..., n\} \times \{\lambda, ..., r\} - \{(i, \lambda)\}$ and $a_{j,\mu} \in \mathbb{R}$. Consider the following two cases.

(I) $n-p \ge 2$. Then without loss of generality we can assume that $i \ne n$. Consider $q \in \{1, ..., n\}$. By the naturality condition with respect to

$$\psi = (x^1, ..., x^{q-1}, x^q + x^i(x^n)^{r-\lambda}, x^{q+1}, ..., x^n)$$

preserving $germ_0(F^p)$ and σ we get

$$dT^r\psi(Y(\sigma))\in L(F^p)_{\sigma}$$

We see that

$$\begin{split} dT^r \psi(\frac{\partial}{\partial x^{j,\mu}}(\sigma)) = dT^r \psi(\frac{d}{d\tau}|_{\tau=0} [\tau \to j_0^r (t \to \tau t^{\mu} e_j + t e_n)]) \\ &= \frac{d}{d\tau}|_{\tau=0} [\tau \to j_0^r (t \to \psi(\tau t^{\mu} e_j + t e_n))] \\ &= \frac{d}{d\tau}|_{\tau=0} [\tau \to j_0^r (t \to \delta_j^i \tau t^{\mu} t^{r-\lambda} e_q + t e_n + \tau t^{\mu} e_j)] \\ &= \begin{cases} \frac{\partial}{\partial x^{j,\mu}}(\sigma), & \text{if } (j,\mu) \in A \\ \frac{\partial}{\partial x^{i,\lambda}}(\sigma) + \frac{\partial}{\partial x^{i,\tau}}(\sigma), & \text{if } (j,\mu) = (i,\lambda) \end{cases} \end{split}$$

i.e. $dT^r\psi(Y(\sigma)) = Y(\sigma) + \frac{\partial}{\partial x^{q,r}}(\sigma)$. Hence $\frac{\partial}{\partial x^{q,r}}(\sigma) \in L(F^p)_{\sigma}$. Now, by Lemma 2.1 $\frac{\partial}{\partial x^{q,r}}$ is an $L(F^p)$ -vector field. The lemma in this case is proved because of Lemma 1.3.

(II) n - p = 1. By the naturality condition with respect to

$$\eta = (x^1, ..., x^{n-1}, x^n + (x^n)^{r-\lambda+1})$$

preserving $germ_0(F^p)$ we get

$$dT^r\eta(Y(\sigma))\in L(F^p)_{T^r\eta(\sigma)}.$$

We see that

$$\begin{split} dT^r \eta(\frac{\partial}{\partial x^{n,\mu}}(\sigma)) = dT^r \eta(\frac{d}{d\tau}|_{r=0} [\tau \to j_0^r(t \to \tau t^{\mu}e_n + te_n)]) \\ &= \frac{d}{d\tau}|_{r=0} [\tau \to j_0^r(t \to \eta(\tau t^{\mu}e_n + te_n))] \\ &= \frac{d}{d\tau}|_{r=0} [\tau \to j_0^r(t \to \tau t^{\mu}e_n + te_n + (\tau t^{\mu} + t)^{r-\lambda+1}e_n)] \\ &= \frac{d}{d\tau}|_{r=0} [\tau \to j_0^r(t \to \tau t^{\mu}e_n + te_n + t^{r-\lambda+1}e_n + (r-\lambda+1)t^{r-\lambda}\tau t^{\mu}e_n + \dots)] \\ &= \frac{d}{d\tau}|_{r=0} [\tau \to j_0^r(t \to \tau t^{\mu}e_n + te_n + t^{r-\lambda+1}e_n + (r-\lambda+1)t^{r-\lambda}\tau t^{\mu}e_n)] \\ &= \frac{d}{d\tau}|_{r=0} [\tau \to j_0^r(t \to \tau t^{\mu}e_n + te_n + t^{r-\lambda+1}e_n + (r-\lambda+1)t^{r-\lambda}\tau t^{\mu}e_n)] \\ &= \begin{cases} \frac{\partial}{\partial x^{n,\mu}}(T^r\eta(\sigma)), & \text{if } \mu > \lambda \\ (r-\lambda+1)\frac{\partial}{\partial x^{n,r}}(T^r\eta(\sigma)) + \frac{\partial}{\partial x^{n,\lambda}}(T^r\eta(\sigma)), & \text{if } \mu = \lambda \end{cases}$$

i.e. $dT^r\eta(Y(\sigma)) = Y(T^r\eta(\sigma)) + (r - \lambda + 1)\frac{\partial}{\partial x^{n,r}}(T^r\eta(\sigma))$. Hence

$$\frac{\partial}{\partial x^{n,r}}(T^r\eta(\sigma))\in L(F^p)_{T^r\eta(\sigma)}.$$

Now, by Lemma 2.1 $\frac{\partial}{\partial x^{n,r}}$ is an $L(F^p)$ -vector field. Reminding the first part of this lemma and Lemma 1.3 we can finish the proof. \Box

3. We are now in position to make the inductive step. Let L be a natural lifting of foliations to the *r*-tangent bundle. From Lemma 2.1 we deduce that there exist linearly independent constant (with respect to the induced coordinates) vector fields Y_1, \ldots, Y_s on $T^r \mathbb{R}^n$ such that $L(F^p)$ is generated by Y_1, \ldots, Y_s .

Suppose that $r \geq 1$. Since any constant vector field on $T^r \mathbb{R}^n$ is π_{r-1}^r -conjugate with a constant vector field on $T^{r-1}\mathbb{R}^n$, then $L(F^p)$ is π_{r-1}^r -conjugate with a foliation $\tilde{L}(F^p)$ on $T^{r-1}\mathbb{R}^n$, i.e. $d\pi_{r-1}^r(L(F^p)) = \tilde{L}(F^p)$. Hence, by the naturality condition applied to the adapted charts L(F) is π_{r-1}^r -conjugate with a foliation $\tilde{L}(F)$ on $T^{r-1}M$ for any p-foliation F on an n-manifold M. Of course, the system $\tilde{L} = {\tilde{L}(F)}$ is a natural lifting of foliations to the r-1-tangent bundle.

158

By the inductive assumption \tilde{L} is equal to one of liftings $L_0^{r-1}, ..., L_{r-1}^{r-1}$. If $\tilde{L} = L_q^{r-1}$ with q < r-1, then by Lemmas 2.2 and 1.3 we get $L(F^p) = \tilde{L}_q^r(F^p)$. Similarly, if $\tilde{L} = L_{r-1}^{r-1}$, then either $L(F^p) = L_{r-1}^r(F^p)$ or $L(F^p) = L_r^r(F^p)$ because of Lemmas 2.2 and 1.3. Now by Lemma 1.2 we complete the proof. \Box

REFERENCES

- 1. GANCARZEWICZ J. Liftings of functions and vector fields to natural bundles, Dissertationes Mathematicae CCXII, Warszawa, 1983.
- 2. KOLÁŘ I. and MICHOR P.W. and SLOVÁK J. Natural Operations in Differential Geometry, to appear.
- 3. MIKULSKI W.M. Natural liftings of foliations to the tangent bundle, Mathematica Bohemica, 117(4)(1992), 409-414.
- 4. MORIMOTO A, Liftings of tensor fields and connections to tangent bundles of higher order, Nagoya Math. 40(1970), 99-120.
- 5. WOLAK R. Geometric structures on foliated manifolds, Universidad de Santiago de Compostella 76 (1989).

Institute of Mathematics, Jagiellonian University, ul. Reymota 4, 30-059 Kraków, POLAND